ERES | E A | mEew | Ewe PEZEC ERES | F | 3|  Eew | awg |PEEEC
31780 60 8 P Tl HY 31810 20 = Mg B HY
31781 40 E] BEH [23h HY 31811 20 5 Mg [2:$h HY
31782 30 X AT 2303 HY 31812 20 % N B HY
31783 10 B HET L HhY 31813 40 % N mL HY
31784 | 10K | % AT Tl HY 31814 10 EZ] N B
31785 70 = HWEH BE 31815 20 E: N B HY
31786 30 8 AT BAE 31816 40 k=9 PTG B
317817 30 = BB BE 31817 30 5 PN B
31788 20 X EiRETH 2303 31818 70 = AOHE BiE HY
31789 60 & B L HY 31819 40 % TR SEHET BiE HY
31790 70 3 BiRmE™ 2303 HY 31820 10 = AOHET Tl HY
31791 |10k | = SEET BiE HY 31821 20 % PN} BiE HY
31792 50 C2] LM 2303 HY 31822 40 EZ] Rt o & fE
31793 30 = ZHHhH BE 31823 30 5 t&EE™ mL HY
31794 50 X ZHH 2303 HY 31824 10 % tt&aEE™ L HY
31795 50 z ZH\H [23h HY 31825 |10k | % tamEM L HY
31796 30 3 LM 2303 HY 31826 |10kiii| B & HEM Tl HY
31797 20 & B AL HY 31827 40 B | k&GET | BE
31798 50 8 RAFH 2303 31828 10 EZ] figiR ™ B
31799 50 5 RAFW [23h 31829 10 E: EAT 23
31800 20 8 RAFH 2303 31830 |10kii| B figiR™ B
31801 20 & i) AL HY 31831 30 % AEm HREESE HY
31802 20 X SRRET Tl HY 31832 30 E:] il REE
31803 20 & B IERAT AL HY 31833 50 % TR ™ B
31804 30 X EBHT 2303 HY 31834 90 = figiR ™ Tl HY
31805 10 L EBHT [23h 31835 30 E: tE&HEM 23
31806 50 8 EBHT 2303 31836 50 EZ] figiR ™ B HY
31807 20 = EBHT BE HY 31837 |10k | & Lt&EE™ B HY
31808 10 8 FRHM 2303 HY 31838 |10k | %= figiR™ Tl HY
31809 20 E] IMETH [23h HY 31839 20 5 MRE ™ B E HY




ERES | E A | mEew | Ewe PEZEC ERES | F | 3|  Eew | awg |PEEEC
31840 40 8 mE™ B HY 31870 50 E2 PN BE
31841 20 5 EEW B 31871 50 5 FIEA] B E
31842 40 8 EEM B 31872 40 % M&H BE
31843 10 S HhEM B 31873 10 L2 EIEA] B HY
isae | 50 | B | mEW | BE | HY sig | 80 | x| mEw | w%E| HY
31845 30 S Kia B HY 31875 10 5 PUESS B
31846 50 8 hEM B HY 31876 30 E2 LT BE HY
31847 80 L HEM L HY 31877 90 = PUESN ) [2:$h
31848 70 8 hEM B HY 31878 20 E2 ] BE HY
31849 60 5 2B L HY 31879 20 = HMILTH B HY
31850 70 8 B L HY 31880 20 E2 BEM BE
31851 10 S EEW B HY 31881 20 5 BmEM B
31852 50 8 EEM B HY 31882 20 % BEM BAE HY
31853 20 5 XA B HY 31883 30 = S HET B HY
31854 20 8 Pl L HY 31884 20 E2 BRKHET BE
31855 20 & KiaET L HY 31885 30 8 2% BiE HY
31856 60 8 [EEIEZ:) B HY 31886 30 E2 it BE HY
31857 30 =8 FHm B HY 31887 40 L2 £ B HY
31858 30 8 HHET B HY 31888 40 E2 Z)m BAE
31859 30 S HEE B HY 31889 60 L2 £ B
31860 40 8 R =L 31890 30 9 SRR BE
31861 20 S R B HY 31891 40 5 SERRT TL HY
31862 50 5 Rigm B HY 31892 50 8 SERRT BE
31863 50 =8 R B HY 31893 40 % BRH B
31864 20 8 R B HY
31865 20 5 RiEm Tl HY
31866 40 C2] Rigm L HY
31867 60 S R B HY
31868 60 8 PN B
31869 10 S KFFTh B




